*****IMPORTANT INFORMATION*****
Make sure you circle you’re answers on this test.  You will be given the correct answers AFTER you turn in your answer sheet and having your answers marked on this test paper will help you to calculate your score on the test. 

NOTA = None of These Answers

1. Horse Racing emoji has 12 white ribbons.  He has as many blue ribbons as white and 5 times as many red ribbons as blue.  How many total ribbons does he have?

A.  30			B.  17			C.  36			D.  28			E.  NOTA

2. Smiling Face started her day with 1 hour 20 min of winking, followed by 25 minutes of tearing up and then 50 minutes of blinking.  If she finished at 1:20pm, what time did she start her day?
A.  10:45pm		B.  3:55pm		C.  10:45am		D.  3:55am		E. NOTA


3. Hugging Face, Grinning Face and Winky Face are standing on the vertices of an isosceles triangle.  Hugging Face is standing at a 130 degree angle.  What is the measure (in degrees) of the angle where Winky Face is standing?
A.  50			B.  25			C.  130			D.  15			E.  NOTA 

4. Harriet used 3 types of emojis this week including 12 Red Hearts, 9 Faces with Rolling Eyes and 9 Persons Shrugging.  What percent of her total emojis were Face with Rolling Eyes?
A.  30%			B.  9%			C.  75%			D.  42%		E.  NOTA

5. Five animal emojis have a mean age of 32.4 years.  If Water Buffalo is 46 years old, Poodle is 32 years old, Ewe is 32 years old and Rhinoceros is 29 years old, how old in years is Goat? 
A.  17			B.  35			C.  21			D.  32.5		E.  NOTA


6. Each of the 5 girls on the texting team needs 14 personalized emojis each.  If a personalized emoji costs $2.38 and there is no tax, what is the total bill for the team to get personalized emojis?
A.  $166.60		B.  $11.90		C.  $133.32		D.  $16.66		E. NOTA

7. Julia’s text included pink flower emojis that have 5 petals and yellow flower emojis that have 8 petals.  If there are 9 flower emojis and 57 petals, how many of the flower emojis are pink?
A.  9			B.  8			C.  5			D.  6			E.  NOTA

8. Smiley Face and Laughing Face put in $18.42 and $23.16 respectively to pay Woman Mechanic to fix their Oncoming Automobile.  If the bill is $54.92, how much do they need to borrow from Face with Rolling Eyes to pay for the repair?
A.  $41.58			B.  $13.34		C.  $96.50		D.  $20.79		E.  NOTA


9. Julio spends the exact same amount of time writing every text he sends.  On Monday he spent 22 minutes writing just 6 texts.  How many texts did he write Tuesday if he spent 121 minutes?
A.  29			B.  30			C.  31			D.  32			E.  NOTA

10. Smirking Face needs to deliver 254 money bags to the bank.  If each delivery truck holds 32 money bags, how many delivery trucks will be completely full of money bags when they arrive at the bank?
A.  8			B.  7			C.  6			D.  5			E.  NOTA

11. Cow emoji bought 27 pounds of hay.  How many ounces of hay did she buy?
A.  324			B.  270			C.  216			D.  432			E.  NOTA

12. Six Crocodile emojis measure 15.6 ft, 11.8 ft, 14.3 ft, 10.9 ft, 9.7 ft and 12.4 ft.  What is the median length of the crocodiles in feet?
A.  12.1			B.  12.45		C.  74.7		D.  12.6		E.  NOTA

13. On Rohan’s frequently used list of emojis, 15 are a type of smiley face and 12 are not.  What fraction of his frequently used emojis are a type of smiley face?
A.  			B.  			C.  			D.  			E.  NOTA	
14. Bob’s emoji Horse training pen is a rectangle measuring 46 ft x 22 ft and Sriya’s rectangular training pen is 28 ft x 34 ft.  Whose training pen is smaller and by how many square feet?
A.  Bob, 60			B.  Sriya, 160		C.  Bob, 160		D.  Sriya, 60		E. NOTA


15. Giraffe emoji was 3  ft tall when he arrived at the zoo.  At the end of the first month, he was 4  ft tall.  If he grew the same amount every month, how tall was he in feet at the end of the 3rd month?
A.  3 			B.  5 			C.  13 			D.  7			E.  NOTA

16. Smirking Face has 11 poodles and 14 spiders.  If she wants to buy leg warmers for all of her poodle and spider pets, and each leg warmer costs $8.49, how much does she spend on leg warmers?
A.  $1324.44		B.  $212.25		C.  $101.88		D.  $1428.54		E.  NOTA


17. Sneaky Face likes to hide birthday presents in his emoji File Cabinet.  If he removes the ribbons and bows from the Wrapped Gift emojis before he stores them, what’s the highest number of 1.5 in x 1.5 in x 2.5 in Wrapped Gifts he can fit in a 13.5 in x 34.5 in x 15 in File Cabinet?  
A.  6986			B.  1242		C.  12420		D.  5625		E. NOTA

18. Person Rowing Boat rows for 2 hours on Monday, sleeps in on Tuesday, rows for 1 hour each on Wednesday, Thursday and Friday and then rows 2  hours on Saturday and 2 hours on Sunday.  How many minutes does he row in the whole week?
A.  545			B.  9 				C.  9 			D.  590		E.  NOTA

19. A gigantic Glass of Milk emoji contains 3 quarts of milk.  How many cups of milk are in the gigantic Glass of Milk?
A.  12			B.  6			C.  9			D.  24			E.  NOTA

20. Pig Face lined up 7 identical Two Hump Camel emojis to form a 514 decimeter camel chain.  Approximately how many decimeters did each camel measure to the nearest hundredth?
A.  3598			B.  359.8		C.  73.42		D.  73.43		E.  NOTA
21. The White Rabbit emoji jumps exactly 4 feet with each hop.  If he hops 237 times, how many yards has he traveled?
A.  2844			B.  948			C.  316			D.  79			E.  NOTA


22. Man Mechanic makes $50 each day.  Each night while he’s sleeping, his neighbor Angry Face with Horns breaks in and steals $20.  At this rate, how many days will it take before Man Mechanic has $200?
A.  4			B.  5			C.  6			D.  7			E.  NOTA


23. Woman Farmer’s cow emojis produced 22  gallons of milk.  If she pours equal amounts of milk into 12 buckets, how many gallons of milk are in each bucket?
A.  			B.  1 			C.  272			D.  			E.  NOTA


24. Pouting Cat Face picks out a $25 mouse toy at the toy store.  If the store is having a 40% off sale, what is the sale price of the mouse toy?
A.  $65			B.  $35			C.  $15			D.  $10			E.  NOTA


25. In a week, Susie used 84 Smiley Faces in her texts.   of the Smileys had a Grinning Face and  of those had a Bead of Sweat.  How many of the Smileys had a Grinning Face with Sweat?
A.  42			B.  45			C.  83 		D.  56			E. NOTA



*****IMPORTANT INFORMATION*****
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26. This week, Larry used 15 Face with Rolling Eyes emojis, 32 Red Heart emojis, some Person Shrugging emojis and no others.  If 30% of his emojis were Face with Rolling Eyes, how many Person Shrugging emojis did he use?
A.  53			B.  47			C.  6			D.  3			E.  NOTA

27. Woman Surfing arrived at the beach at 10:15am.  She surfed 6 waves that took 12 minutes each.  She then rowed her boat for 44 minutes and sunbathed for 28 minutes.  What time did she finish sunbathing?
A.  11:39am		B.  12:39am		C.  11:39pm		D.  12:39pm		E.  NOTA

28. Man Juggling and his 2 friends had a contest.  Man Juggling juggled 6 balls for 24.6 seconds, one of his friends juggled for 16.2 seconds and the 2nd friend juggled for 12.4 seconds.  What was their average time in seconds (rounded to tenths)?
A.  17.7			B.  17.73		C.  18			D.  17.8		E.  NOTA


29. The 6 girls and 3 boys in the emoji club were hired to create new emojis and were paid $3.27 for each new creation.  If each girl created 12 new emojis and each boy created 9 new emojis, how much did the club earn altogether?
A.  $68.67			B.  $29.43		C.  $323.73		D.  $6356.88		E.  NOTA

30. Man Lifting Weights and Person Lifting Weights worked out every Tuesday and Thursday.  Man Lifting Weights worked out 2.6 hours each day and after 3 weeks had worked out 3 fewer hours than Person Lifting Weights.  How many hours did Person Lifting Weights work out each day assuming the same for each day?
A.  3.6			B.  18.6		C.  2.1			D.  3.1			E.  NOTA
31. In the polygon drawing contest, Winking Face reports drawing a hexagon with 5 obtuse angles and 1 acute angle, Thinking Face a pentagon with 4 obtuse angles and 1 acute, Neutral Face a quadrilateral with 3 obtuse and 1 acute and Tired Face a triangle with 2 obtuse and 1 acute.  Which emoji is lying?
A.  Winking Face		B.  Thinking Face	C.  Neutral Face	D.  Tired Face		E.  NOTA

32. A Fox Face emoji has an average of 8 Fox Face cubs in 9 years.  On average, how many Fox Face cubs would she have in 264 months rounded to hundredths?
A.  19.56			B.  19.55		C.  24.75		D.  24.8		E.  NOTA


33. Chicken emojis produce 23 Hatching Chick emojis each year.  If Old Woman Farmer has 14 Chicken emojis and Man Farmer has 8, and together the 3 farmers produce 851 Hatching Chicks, how many Chicken emojis does Young Woman Farmer have?
A.  37			B.  15			C.  1			D.  806			E.  NOTA


34. Person Getting Haircut owed $14.50 for his haircut.  How much did he have to pay including 7% sales tax?
A.  $15.51			B.  $15.52		C.  $10.15		D.  $17.50		E.  NOTA

35. The area of the rectangular pen where they feed the Tiger emojis is 112 square feet with a width of 8 ft.  What is the perimeter of the pen?
A.  240 sq ft		B.  240 ft		C.  44 sq ft		D.  44 ft		E.  NOTA


36. Rat emoji weighs 14  ounces while Chipmunk emoji weighs 17 ounces.  How much heavier is Chipmunk in ounces?
A.  2 			B.  3 		C.  3 		D.  3 			E.  NOTA

37. The results of the tree cutting contest are in.  Chipmunk emoji took 18.282 sec, Beaver emoji took 18.97 sec and Lumberjack emoji took 18.4 sec to cut down the tree.  Which decimal is the largest, and who won the race?
A.  18.282, Chipmunk	B.  18.97, Beaver	C.  18.97, Chipmunk	D.  18.282, Beaver	E.  NOTA
38. Snake emoji started out at 16 cm in length.  If he grows 15 mm/month, how long will he be after 8 months?
A.  136 mm		B.  31 cm		C.  28 mm		D.  28 cm		E.  NOTA 

39. Money Mouth Face had 9 pennies.  After one week, the number of pennies had doubled.  After two weeks, the number had doubled again.  If the number of pennies continued to double every week, how many pennies did Money Mouth Face have at the end of the 5th week?
A.  144			B.  288			C.  54			D.  45			E.  NOTA

40. Lion Face emojis need 6 haircuts each year.  If Sydney has 130 Lion Face emojis, and haircuts cost $17 each, how much does Sydney spend each year on Lion Face haircuts?
A.  $13,260		B.  $780		C.  $2,210		D.  $10			E.  NOTA

41. Cowboy Hat Face has a herd of 120 animals including cows, horses and goats.  If   of the animals are cows and  are horses, how many of his animals are goats?
A.  			B.  112			C.  72			D.  8			E.  NOTA

42. The Hugging Face Day Care Center has a play room that is 36 ft. by 28 ft.  Mrs. Hugging Face wants to cover the floor with padding that is sold in square yards.  How many square yards of padding will it take to cover the play room floor?
A.  1008			B.  336			C.  112			D.  64			E.  NOTA

43. Three eighths of Susie’s favorite Smiley Face emojis have oval eyes.  If 114 have oval shaped eyes, how many favorite Smiley Face emojis does Susie have?
A.  2736			B.  304			C.  43			D.  570			E.  NOTA

44. Three Acrobat emojis are performing in the talent show.  Acrobat Alex is 2  ft. tall, Acrobat Ann is 3  ft. tall and Acrobat Antoine is 4  ft. tall.  If the Acrobats stand on top of one another to make an emoji tower, how tall in feet will the tower be?
A.  10 			B.  9 		C.  10 		D.  9 		E.  NOTA
45. Man Student emoji started tutoring young Smiley Face emojis to make extra money to buy a car stereo.  After tutoring a number of days earning $36 per day, he returned home one evening to find that $47 of his tutoring money had fallen out of a hole in his pocket.  Luckily he still had exactly enough to buy the $241 car stereo.  How many days did he tutor?
A.  8			B.  9			C.  5			D.  6			E.  NOTA


46. Man Scientist emoji worked for 5  hours on his experiment.  Woman Scientist emoji worked 4  hours on hers.  How many more hours did Man Scientist work than Woman Scientist? 
A.  1 			B.  1 			C.  			D.  1 		E.  NOTA


47. During an emoji housing construction project, crews took no days off and built 14 emoji Houses in 6 days.  At this rate, how many emoji Houses could be built in 12 weeks?
A.  168			B.  28			C.  169			D.  84			E. NOTA


48. The Grimacing Face emoji club went to the amusement park.  If the emoji Roller Coaster has a 42.15 ounce weight limit, and each Grimacing Face emoji weighs 2.5 ounces, how many Grimacing Face emojis can go on the Roller Coaster at a time?
A.  16.9			B.  16.86		C.  16			D.  17			E.  NOTA


49. The Person Golfing emoji sunk a putt from 17.25 feet.  How long was the shot in inches?
A.  207			B.  204			C.  51.75		D.  276			E. NOTA
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50. If 8 Giant Smiley Face emojis standing side by side create a Smiley chain that is 20 ft. long, how many Giant Smiley Faces does it take to make a 325 ft. chain?
A.  125			B.  725			C.  130			D.  813			E.  NOTA


